Prelim Analysis for RhoO channel in Carbon12

ReactionFilter plugin is used to find the events for RhoO channels to make Analysis Trees.
y+C12 —— n*+n+ p + (Boronll)
Reaction: 1 67 8 9 14 m66
Flags : F4 B4 T2 S5
F4 = AMomentum and Vertex constraint Kinfit

B4 = includes beam photon from 4 beam bunches on either side of prompt
peak(Bldefault)

T2 = Exclude events with more than 2 additional tracks (T3 default)
S5 = Exclude events with more than 5 additional shower (999 default)
y+C12—— n' + 0+ p -+ (unknown)

Reaction: 1 67 8 9 14 mO

Flags : F4 B4 T2 S5

Dselector is used for analyzing of “Analysis Trees” produced from Reaction Filter Plugin.
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Invariant mass of PipPim (Kinfit) Missing Mass Squared

h_2Pi MissingMassSquared
L Entries 8912356 E Entries 8912356
— Mean 0_8494 .................... Mean 1 16_4
LY StdDev  0.3706 : - : : StdDev  28.36
B g g List of Cuts applied
2000
B C.L > 0.001
= BeamEnergy > 6.5 GeV
1500 —
B 52 cm < Zvertex < 78 cm
L Coplanarity between RhoO and Proton(165,195)
1000 —
C PipProt Invariant Mass > 1.3 && PimProt Invariant Mass >1.2
B pMinus = E(rho+ proton) - Pz(rho+proton) (0.8 <pMinus < 1.1)
500 —
W : : : : : : : : PIDFOM > 0.001
C : 5 : No of extra tracks = 0.0 (Before: T =3
0 11 | 111 | 111 I 11 | | 111 | 111 | 111 | 111 | 111 | 11| | 1 ( ] 0 4 M 1 1 1 1 1 1 1 1 1 1 1 1
0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2 22 0 50 100 150 200
T Invariant Mass (GeV/c?)(Kinfit) Missing Mass Squared (GeV/c?f
Missing Energy dE/dx Proton dE/dx PiPlus
MissingEnergyMeasured PrOtOr‘I_dde_P P|P|U5_d de_P
= . = 25— ; ; ; ; ; ; ; = 25 ; ; ; ] ; ; ; ;
a50F Entries 8312356 E H : : : : : : : Entries 8012356 E - : : : H : : : : Entries 8912356
E Mean 11.27 5 Mean x 0.6678 S Mean x 2718
E Std Dev 2.086 g Mean y 6.501 i3 % Mean y 0.8607 [
400 F T X | StdDevx  0.3821 X |StdDevx 1335
- ] StdDevy 3.9 w StdDevy 0.9364
350 F e ; = ;
300 F
n 10
250 F
200 F
150 b e LTI
C 10
100 : .............
50 : ........
Ozll'i"'i"‘ i Illllilllilllilllilllill 0 IJ_IIiIIIIIII.I.IT-'_IIII IIII|.|I.IIilllllIIIIIill.Ill.I-III- 1
0 2 4 6 8 10 12 14 16 18 20 0 0.5 1 1.5 2 25 3 35 4 4.5 5
GeVic

Missing Energy (GeV) pprcltun



#Combos /200(MeV/c*)
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Invariant mass of PipPim (Kinfit)
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- Missing Mass Squared
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Yy+C12—— n*+n+p + (Boronll)

Invariant mass of PipPim (Kinfit)

h_2Pi
ng 60— Entries 31227
% r Mean 1.38
= - StdDev  0.5432
8 50
& L
> L
9 C
2 L
E 40
(=] [
(&) L
3+ L
30
20
10 -
0
-
TIIIIIIIIIIIIIIIIIIIIIIIIIIIII
04 06 08 1 1.2 1.4 1.6 1.8 2 2.2
' Invariant Mass (GeV/c?){Kinfit)
Missing Energy
Missing EnergyMeasured
801 Entries 31227
r Mean 10.28
?D: Std Dev  0.8896
B0
50
40
30
20F
10F
00 2 4 6 8

Missing Energy (GeV)

dE/dx (keV/cm)

Missing Boron
List of Cuts applied

C.L > 0.001
BeamEnergy > 6.5 GeV
52 cm < Zvertex < 78 cm
Coplanarity between RhoO and Proton(165,195)
PipProt Invariant Mass > 1.3 && PimProt Invariant Mass >1.2
pMinus = E(rho+ proton) - Pz(rho+proton) (0.8 <pMinus < 1.1)
PIDFOM > 0.001
No of unused shower = 0.0 (Before: S =5)
No of extra tracks = 0.0 (Before: T =2)

dE/dx Proton

25 Proton_dEdx_P
L Entries 31227
- Mean x 1.434
- Mean y 2511
B StdDevx 0.5021
&l L StdDevy 1.26 ]
15
i 1
10
5
B 107
O_I 111 | 1111 | L1l | L1l | | | I | | | L1l | 1111 | 1111 | L1l
0 0.5 1 1.5 2 2.5 3 3.5 4 4.5

dE/dx (keV/cm)

Missing Mass Squared

MissingMassSquared
= Entries 31227
70 Mean 105.2
C Std Dev 10.03
60
50
40f
30f
20 |
10f
0 _I IITANINTTTE iy .I ot 1 1
50 100 150 200
Missing Mass Squared (GeV/c?)
dE/dx PiPlus
25 PiPlus_dEdx_P
= Entries 31227
= Mean x 2436
- Mean y 1.384 )
B Std Dev x 1.4
2 L StdDevy 0.8573
15
i 1
10
5 107
0 _I 111 | L1 1l | L1 1l | Ll 1l | I | Lol || | 1111 | 1111 | LIl | 1114
0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
pF'iF'Ius GeV/c
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Extra cut Applied on ME( 8, 14) GeV and MM2 (60,140) ((GeV/C"2))"2 for Missing

_unknown.



